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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

TG G2 SRS Ted fuw |

1. (a) Answer the following as directed:
1x5=5

woTs fraiEed Ros SR el fml e

(i) In case of hire purchase, Asset
Account is debited with price.
(Fill in the blank)

orol 7 (wae TSI ___ e
o5 = F (4T 312 o3 F)
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(ii) Recoupable shortworkings are
shown in Balance Sheet, as a .
(Fill in the blank)

Tpesias WeaRka TR Rl
oo (457 3% 93 )

(it} Accordingto__ principles, closing
stock is to be valued at cost price

- or market price which ever is lower.
(True or False)

S oRptR R A 3o @y
3N IG5 RO T GIROR ese fdffa
= = (1 & =)
(iv) As per dual aspect principle,

Asset=____+ Liability.
(Fill in the blank)

70! firelq TS pifs, ooifs = gt
(3Tt 2 o7 79)

(v) Under sectional balancing system,
a Trial Balance be prepared only
out of Ledger.

(Fill in the blank)

MR T smfoo g AfonR
*RITE 937 Tge fiemeig e $R7 AR |

(T 332 o7 )
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(b) State whether the following statements
are True or False: 1x5=5

wete fuzl RIfeomym sy @ worey -fosii 2

() ‘Separate entity concept’ is not
applicable to company.

AT TR (RN @R CFTS
TSy = |

(ij) Shortworking arises even if there
is no minimum rent.
TSN ©IY TS WoeFI T =
M| o

(iii) Accounting standards are set by
Ministry of Finance.

oI ReTE e sgeen el
Lal

(iv) Instalment purchase system is an
agreement of hiring goods.

FfBore T Jafe = 537 SIvR IS |

(v) Accounting principles are generally
based on practicability.

fZpioreael TSR ARATS IR
@oige fofe T
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2. Answer the following questions in brief:
2x5=10

ffiRe @ o Bes i s
(a) Mention two defects of sectional

balancing ledger.

RIS TERTS AT Repe 707 (id T
1

(b) Mention two limitations of Accounting
Principles.

ot NSRS 75! MRS SEd 34|

(c) Write -the meaning of recoupment of
shortworking under Royalty Account.

;ﬁw o1l T Weaika FosReR wef
|

(d) What is meant by ‘down payment’ in
hire purchase system ?

SITIF A0S ‘s AReNe W & 2

() Mention two advantages of self-
balancing ledger system.

TGS Ao ormfa 757 R Fra
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3. Answer the following questions: 5x4=20
weTe Al emRies Tes o 8

(a) Mention five modifying accounting

principles.

BoleRmiN ARSI e b5 T =1
Or /3

State the nature of accounting

information.

f2pIoR OUR AFS ATE ot

(b) Explain with example how the sectional
balancing system works.

ARG TEeH GO NI FIN I TAPR
I

or/ #3J

Write a brief note on the special
features of instalment purchase system.

Rifyore T Aot Ko WHETRT evTe
5 (5R frdl
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(¢) A seller sold a machine on hire purchase
system, the cash price of which was
payable as ¥ 12,000 down and balance
in three equal annual instalments
together with interest @10%. The
amount of instalment including interest
was ¥ 17,600. Determine cash price of
the machine and interest for each year.

gom Rrrold oo afoe a3 Fgaife
@M 9 TR 12,000 5 [l fwe
siReiy FRT AT = AP I T 10%
7o 7@ 4R 5! 7 S ¥ fra afaa
fRee 57 3 BICS 17,600 531 = | T@oiifes
oW T SIS AT o e =

Or /33

State the importance of minimum rent
in a lease agreement. 10

&3 781 ;e Jrow TR w3y & T 1

(d) State in brief, the accounting treatment
of shortworking under Royalty Account.

TG 19 wfive gxoicia R5teRmeR
R R, 5T A
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or / 7J

Roy Ltd. leased some land to AB Ltd.
at a Royalty of Re 1 per tonne on the
output raised subject to a minimum
rent of ¥5,000p.a. with the right of
recoupment of shortworking during the
first three years of lease. The output
for the first 4 years were as follows :

< Rfm o Fifcw ofs o 1 5l A
fﬁm%ﬁ?gmﬁﬁwﬁmwﬁq@m
ws,ooowwzﬁtiﬁmaﬂa%ﬁ

First year (¥4 q%9) — 3,000 tonnes

Second year (froia a=9) - 5,000 tonnes

Third year (961 3=J) - 9,000 tonnes
Fourth year (B'\EQf %) - 8,000 tonnes

prepare the statement showing the
calculation of royalty and shortworking.

ngﬁﬂmﬁoﬁawﬁqﬁﬁ o4Fe |
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4. Define Accounting Standard. Explain the
procedure of setting Accounting Standards
in India. 3+7=10

fEpioRmaeis MPTE I F0 | SRTS RN Wiew
AfSH TRT (FIS A AGS I T

or/ 7z

Discuss the benefits and limitations of
Accounting Standards. 5+5=10

fepIoReR STFPITRR R4 =% SPIRid ceisal 31 |

S. From the following particulars for the year
2021, prepare the required Adjustment
Accounts as they would appear in General
Ledger as on 31.12.2021 under self-

balancing system. 10
2021 v R vaR fofee Tai-oTafie sigisa
WS SATAEAT FAAGH RB1oPrE e Ao s
31.12.2021 ©Iff¥s 2ge ) 3
1.1.2021 Debtors Ledger Balance ¥ 1,37,000
(AR Ao Bge
1.1.2021 Creditors Ledger Balance ¥ 16,400
AR AT Sge
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Transactions during the year:
JHOMS (TR ETHTRAIN 3
Credit purchase

A T
Credit sales

Sl

Cash received from Debtors

AT 78 (N
Cash paid to Creditors

sfeAmE ARCNY F91 F
Return from Customers
2R wd e

Return Outward

o e

Discount received

et B!
Bad debts written off

SRR O SR

Acceptance received from Debtors

21T S (AR Higle
Bills Payable accepted

o Rel o
Cash sales

Fom &

Sundry charges debited to Customers
g AS (GG 1 [k T
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6,250
6,950
7,700
9,200

260
300
180
720
2,550
3,600
5,000

50
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z (53)

Allowances from Creditors 160
s 71 SlE!
Bills payable dishonoured 900
o Rel SoTHING .
Discount allowed to Debtors 130
iR B!
Cash purchases 3,090
FW T |
Bills receivable dishonoured 210
gjoy R SpTEine
Bad debts written off, now recovered 90
SR 9 SERaE W
Transfer from Bought Ledger to Sales Ledger 150
7 AR o [ ATl Fe
Bills receivable discounted 500
olie Rt B

Or / 73

From the following figures, prepare a Total
Debtors Account and Total Creditors
Account for the period ended on 31.12.2021 :

S5+5=10
o il YR ol 31 T ok Srest e A
T MR ot W 5 ANSARR {Hisl e i o
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Debtors on 1.1.2021

1.1.2021 ST @AMR
Creditors on 1.1.2021

1.1.2021 SIRRT “HeTm{
Cash paid to Creditors

NG T & ARy
Cash received from Debtors
(TAIMIRT 2R 791 & 2hfes
Purchase

&Y
Discount received

oie B!

Bad debts written off
SRR 9] SR
Sales returns

Rt e

Purchase returns

7 e

Interest charged to Debtors
(MY GRS T

Debtors cheque dishonoured
(AR (5% PTG

Discount allowed

ord I8!
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19,270

12,150
76,130
1,29,950
88,490
2,860
560
930

1,820
50

760

3,560
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Sales 1,30,600

fa&t

Bills payable accepted 8,900
oo et Fige

Interest on bills payable renewed 30
TR I A (o @oiTe |

6. Mention the obligations of the hire purchaser
and the right of the hire vendor under the
Hire Purchase Act, 1972. 5+5=10

OIT-F Sz 19727 THNG SividoN SiEHe
TREel % Oiet Rireiy SiEnE T 71|

Or / 2

Mr. Das purchased a machine from Mr. Jain
under instalment payment system on lst
January, 2018. It was agreed that ¥ 15,000
was to be paid at the time of signing the
agreement and ¥ 15,000 annually for 3 years.
The cash price of the machine was ¥ 52,300
and the rate of interest was 10%.
Depreciation is charged @ 20% p.a. on
diminishing balance method.

Prepare Machinery Account and Mr. Jain
Account in the books of Mr. Das,.

5+5=1O
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Rz et oIz Tmt 2018 SR 2 R SRl
¥a1e simfow im TS i | 5 T R
TS 15,000 B3 R A4S I3 15,000 B0t Fof
IR ARy IR (ol S 1 e
947 AN 52,300 T WP JR T 10%, IHF 20%
YI© FAZPT TR 8oiT® Sy 41 [T |
(PO IRTS IFNET 2519t =i i Tome Rp1et oo
=4l

7. K Ltd: hold a lease of a coal mine for a
period of 10 years commencing from 1st
January, 2015. According to the lease, the
company is to pay 75 paise as royalty per
ton with a minimum rent of ¥ 15,000p.a.
Shortworking can however be recovered out
of the royalty in excess of minimum rent of
next two years only. For the year of strike,
the minimum rent is reduced to 60%.

2015 B #IfZT SRFINIR 2] 10 TRT IR
o saat ¥R ANRT A5 T NG SR
@RI ofS BAS 75 #3! THRR TS Pen
el 15,000 531 AfReaiy R #1fR 1 e
9IS 7B IJCS PTo OITetT (@R @RI TIII1
ol Fiosae IR AR | 4G (2RI IJCIS Povowl

ol 60% I
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The output in tons for the 6 years is as

under :
4ffT 6 TS T~ Besim S WEfRS
4399 ¢

2015 —_ 10000 tons

2016 — 12000 tons

2017 — 25000 tons

2018 — 20000 tons

2019 — S0000 tons

2020 —_ 15000 tons

Srike (4:{95)

Prepare Shortworking Account and Landlord
Account in the books of K. Ltd. 5+5=10

3. Ao 2% WeaR it wie gHilia it
4TS I |
Or /3t

Tata Ltd. is a publishing firm. It has
commissioned Dr. Deka to write a book.

Deka’s contract states that his royalties will
be calculated as follows :
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it TS 21 @t ez (ot | G e CoSi
T (T 3 ol 1t cifers sk | coom
TS 31 % SR (96T 03 Foll TGPFIE SoTo
T A 4@ 2Bl ;0 = o

() He will receive a basic payment of ¥ 40
for every book sold.

UTOIPY [Pl Ry sl wiesl codm
40 Bt “fReNy T = |

(i) The minimum payment during each of
the first two years will be ¥ 40,000. The
publisher is entitled to recover any
shortworking from the royalties of the
3rd and 4th years. The maximum
amount which can be recovered during
any given year is limited to 25% of that
year’s royalties.

YA I AT IR (6T Py 40,000
Bl ARTNY 1 1 S wiee ol e
R ASMT (MG Rt Wi Az
TEHT 719 FosRd IR 2R | R s

LPIF (MBI ST T[N {2 i
(IR ITT TIPH 25% 3 fooge e AR |

(i) There are no minimum royalties from
year 3 onwards.

oI ¥ #Ad1 (ICA PTou FTHI A ARK |
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(iv) All royalties are paid on 31st December,
the last day of accounting year.

f2pteiaeel T] 1T Tt il 31 foroTs ©ifRs
e TG AR IR7 AR

(v) The book was published during 2017.
The number of copies sold in each of
the first 4 years were as follows:

2017 Bve Foridd oM o9 (2w | e
TEY T [ 9N 4 IRO oo [

[CESE

2017 — 800
2018 — 900
2019 — 1400
2020 — 1800

Prepare Shortworking Account and Dr.
Deka’s Account in the books of Tata
Ltd. 5+5=10

FPRS “NoTew I3re WTeaRR Boie o
T3 (TIN 2519 oge 11
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